Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I « EXAMINATION - SUMMER - 2014

Subject Code: 310029 Date: 05-07-2014
Subject Name: Engineering Drawing
Time: 02:30 pm - 05:30 pm Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions whrever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Draw following views in orthographic projection of given pictorial view in
fig. 1, using 1* angle Projection method with aligned system of dimensioning.
I.  Front view from X-Direction and ii.Top view iii. R.H.S. view.

Figure 1.
Q.2 (a) Draw an Isometric drawing of the given fig. 2. 7
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(b) Enlist the engineering drawing Instruments and state their uses.
OR
(b) Write the untrimmed size of different drawing sheets.

Q.3 (a) Draw an Ellipse having distance between two foci F1 & F2 is 90 mm. and
major axis is 120 mm. Draw half ellipse by arc of circle method and other half
by Concentric Circle method.
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(i) Construct a regular Pentagon having a side of 40 mm using three circle
special method.
(ii) List the different type of lines and state their uses.

OR
Draw an Archemedian Spiral of maximum radius 70 mm and minimum radius
of 10 mm for 450 ° revolution.
(i) Construct a regular Heptagon having a side of 30 mm using Universal
Method.
(ii) Differentiate between Aligned and Universal system of dimensioning. 04

Draw an Epicycloid of one revolution for the valve of Bicycle wheel radius 40
mm rolling over a curve bridge of 100 mm radius. Assume that the valve is on
the top position.
(i) Construct an Isometric scale.
(i1) Draw a circle passing through three points R,S & T which are notina 04
straight line.

OR
Draw an Involute for a semi circle of 40 mm diameter.
(1) Two lines OA and OB are at 90 °. A point P is 20 mm and 40 mm away
from OA and OB respectively. Draw a rectangular Parabola through point
“pP~.
(ii) Differentiate between first angle and third angle projection method.

A line PQ is 80 mm long is inclined at 30 ° to H.P. and 45 ° to VV.P. The end P
is 20 mm behind V.P. and 10 mm below H.P. Draw the projection of line PQ
and find the apparent angles and length of plan and elevation.
Draw the projection of Hexagonal plane of 30 mm side has a corner in the
H.P. Its surface makes an angle of 60 ° to H.P. and view of Diagonal passing
through a corner on which it rests which makes an angle of 45 ° to V.P.

OR
A line CD 90 mm long measures 65 mm in front view. The front view makes
an angle of 45 ° with XY. The point C is in V.P. and 25 mm below H.P. The
point D is in third quadrant. Draw the projection of line CD and find the true
inclination with H.P. and V.P.
A circle of 60 mm diameter has its one diagonal AB inclined at 60 ° to H.P.
and the other diagonal CD which is perpendicular to AB is inclined at 45 ° to
V.P. Draw the projection of circle.
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